=
<

(0 @) (rad)

=
<
N

g |
i

I
5

SICEWATL

1072

Ratio

of :
107 1

TPlpoT (PCA

— I ] —_Global__
—e— DQM_V0001_R000000001__Global

3
Hheamiindf

—
=
3 [
3
]

5 M
k) 10 H-
=~ B
o e

wam
e

10

1

2 3
TPlpoT (PCA t%obeamliné[f)

SSVW_CKT,

RECUO

CMSSW_mkfit__ RECO
CMSSW_mkfitLowPtTriplet

—— DQM_V0001_R000000001_Global —_CMSSW_mkfitCowPtQuad__RECO
—— DOM_V0001_R000000001 _Global

RECO

I -

o p/p.)

1074

4

::I..ur...é ............

+

o105 f
< :
@ :
1 HH S I R
rt
05— : LT . ;
10 1 TPlpg)T (PCA t%)obeamlin%)o

1

z

oo a,) (cm)

o =
IS
x
0.5
10



	Contents
	Page 1


